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Note : Before answering the questions, read carefully the instructions given on the

OMR sheet.

Sriss (D)o amreey [Fraed oo, OMR amren HEne® adgudd roten erigm $E508.

SECTION — A : MATHEMATICS (/53¢ 3°095w)

1 The value of log, ee is
log, eve dend Dos?

1 2 3 4
2 2) 3 3) @ 3
2 Cardinal number of the set 4={-2,-1,0,1,2} is
A={-2,-1,0,1,2} &3 SD88 593 Jowg
(1) 5 (2) 4 (3) 2 “4) 2

3  The zeroes of the quadratic polynomial x> +24x+119 are
(1) one positive and one negative (2) both positive
(3) both negative (4) none of the above
X2 +24x+119 &S 5 b drarged
(1) 283 sorey o daK e.8e3 anveses) So (2) Bodr Sareyso

(3) Bodr eveey o 4) W =Y
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10
4  What is the degree of the polynomial Tu® —%u4 +6u’—-8 ?

Tu® -%u4 16U —8 B wiubd HOHrH Jo8?

-7 @) *% 3) 6 (4) -8 1

5 H.C.F. of 8, 9 and 25 is
8, 9 ®dam 25 © K=

(1) 0 (2) 1 (3) 2 4 3
6 2

Ji 18

(1) Natural number (2) Rational number

(3) Irrational number (4) An Integer

1

:[—-2' (SRS )

(1) diees Domg (2) wgsBan dowg

(3) svedon Howg (4) &g Rowg

7 If 2* =82 then x=?
2% =82 wond X=7
(1) 2 (2) 4 (3) 6 4) 8
8 A:{C,O,V,I,D,19,2020}, B={C,0,V._1,D,19,2021} then B—4="?
A:{C,O,V,I,D,19,2020}, B={C,0,V,1,D,19,2021} wond B-A=?
(1) {2020} (2) {2021}
(3) {2020, 2021} @) {c,o0.v.I,D,19,2020,2021;

9 ' Find the value of logg 0.01

logq ; 0.01 Jewd 2od?
(1) 1 (2) 2 3) 3 4) 4

SPACE FOR ROUGH WORK / D I8 Beranosds Homn
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11

12

13

14

15

16

The roots of x2+x—6=0 are

2 +x—6=0 By Hwreren :
(1) 2, -3 (2) 2.3 oy 2:°3 4) -2, 3

s . 2 ; 1 cal
If o. B are the roots of a quadratic equation ax>+bx+c¢=0, a#0 then _+E=
o

1
o, B e ax? +bx+¢=0,a#0 BoEy. s, l+E=

o
: b e b b

jEye= @) 7 ) = ) =

10t term of an arithmetic progression 2,—1,—4,....... is

2,-1,—4,....... D WOEEAS D HesH Hesko

{0y 21 2) —23 3) -25 (4) 27

How many two digit numbers are divisible by 7 ?
7 B 2rfos 256 Bodose Hopgen ay?
(1) 10 (2) 11 (3) 12 (4) 13

The sum of ‘15 terms of AP 3,6, 9...........

o R, o Vo¥EASN 15 dore do
(1) 315 (2) 360 (3) 415 (4) 460

The value of x which satisfies the equation 2x—(4—x)=5-x is

2x—(4-x)=5—x O5) éﬁbédw&)l &) HEB X Dewd

(1) 4.5 (2) 3 ) 225 (4) 0.5
Solution of the equations 3x—4y=7 and 2x+3y=-1 is not equal to
3x—4y=7 Hba 2x+3y=—1 HDESTe ;O S (80d TBS° BI8 Hhrero s,
22533 33 44 44 77 e A |
M %33 2 330 "H G @7 @ 77 1
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17 If Zn=45. then n=
In=45 e®and, n=
() 9 (2) 10 (3) 11 (4) 12
18 The centre of a circle with (1, 2) and (7, —4), as end points of the diameter is
(1. 2) 8oxw (7, —4) en g (e e Ko H)8 So|dso
1) 4. 1) (2) 4 -1) ) 41 (4) 4, 1)
19 Area of a triangle formed by the line xcos o+ ysino.= p with the coordinate axes is
Xcosa+ysina=p Op Wrdsgros® 6168 (@ave Bwrego
2 2
S e B P YT, s il
() 2sin 0L COS O @ sin ot cos o ) 2sin oL cos o 4) sin oL cos o
20 If x+7y=7 and 7x-3y=-3, then y=?
x+7y=7 Do 7x—3y=-3 @owd, ¥ dend 2
(1) 1 2) 7 3) -3 4) 0
21  Which of the following equation is not a linear equation ?
& (808 BVESEoS® DB Baw B ESHo sU¢h?
(]) 24+3x=y-5 (2) 3«-x:))2+7 (3) x+3y=2y—-x (4) Sx+2y=0
22 If x?>+kc+1=0 has a root x=1 then k=
X2 +hr+1=0 8soinss ¥=1 o8 Sreoms vond, k=
) 1 (2) 2 (3) 3 (4) 2
23 If the roots of the quadratic equation ax2+px+c=0 are sing and coso.. then
1425 =
a
sino ©8aw coso ew ax?+hx+c=0 SE). reren ®awd, {+7==
a
a? q h2 5 5
(1) 23 (2) = (3) a (4) »*
SPACE FOR ROUGH WORK / DK HI8 Béranoswdd dedn
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24

25

26

27

28

29

If the system of equations 3x—2y—~7=0 and kx+2y+11=0 has unique solution then
3x—2y—7=0 ©Bam kx+2y+11=0 pESere 285 JBE P oS

(1) k=3 ) k#-3 3) k=3 4) k=-3

If 7x-5y=2 and 3x+y=4, then x=29

Tx—=5y=2 HBoXw 3x+y=4 wowd, x dewd ?

(1) 3 (2 3 3) 1 “4) 2

The distance between the points (0, 0) and (5, 12) is

(0, 0) ®doxv (5, 12) DorHe Desg Brdo

(1) 11 (2) 12 {3) 13 (4) 14

If the slope of the line through (x, 5) and (5, 2) is 3, then the value of x is

(x. 5) @8a (5, 2) © thoae I B aren 3 @awd, X dewd

(1}37 (2) 4 (3) 5 4) 6

If AABC ~APQR, £A=32°, ZR=65" then £ZB="?

AABC ~APQR; £LA=32°, LZR=65"° ®and, LB="?

(1) 93° (2)-83° (3)- 73° (4) 63°

The angle in the minor segment is

(1) obtuse (2) acute (3) 90° (4) None of these
voybyspoko & §wo £wo0.

(1) 68 (2) o) (3) oo (4) 8 s

SPACE FOR ROUGH WORK / 9& %08 Séranowsads o0
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31

32

In the figure £ZB40=30°, ZLBCO=40" then £40C ="?

S0 wod LBA0=30", LBCO=40" eond, LAOC=?

(1) 100° (2) 1200 (3) 140° (4) 150°

In the figure OB=13cm, OP L AB, OP=12cm then 4B=
H0 ®od OB=13 20.D., OP L AB, OP =12 20.%. ®@ond, 4B =

(1) 100 cm (0.>.) (2) 50 cm (0.) (3) 75 cm (o.d)  (4) 10 cm (0.D)

In the AABC: D, E and F are the mid points of the sides BC. C4 and A4B.
Then area of ADEF : area of AABC=

A4BC &° D, E 805 F e $6s8m BC, CA %8050 AB © 208500808385,
ADEF 3wego : AABC Bwreogo = Bl

(1) 1:4 (2) 4:1 (3) 13 (4) 34

SPACE FOR ROUGH WORK / 9& %08 Séranosads i
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34

35

36

In the given figure £ZBAC=90°. 4D 1 BC, BD=9cm and CD=16cm then AC=?

2Dy o wod LBAC=90°, AD 1 BC, BD=9cm 0o CD=16¢cm ®and, AC=?

A

2 9 D 16 "

(1) 10 em (2) 15 cm (3) 20 cm : (4) 25 cm

The base of two similar triangles are 24 cm and 18 cm. If one side of the first triangle
is 8 cm then corresponding side of other triangle is

(1) Sem. . (2) 6 cm (3) 4 cm (4) 2 cm

Bodky B8rS (@ehere airine FEHen 24 0.2, DB 18 =00.5.e0. &8 (@abe ghzo 8 o.ab.
oD, Bodd ©EFD |Behes gheso 20.8.

(1) 8 (2) 6 ()4 4) 2

If a parallelogram is cyclic, then it is a
(1) rectangle (2) square (3) quadrilateral (4) rhombus
hross SEyein SBaLDS, ©b &l

(1) 6g £S5 8D (2) SedRPH0 (3) St yesdno (4) oro2d

The perimeter of a rhombus is 52 cm, if its one diagonal is 24 cm then the length of
its other diagonal is

(1) 5cm (2) 7 cm (3) 9 cm (4) 10 cm
28 0w B, HEwFed 52 0., Mook ool ef 8o FEY 24 20.8. @and a°d Bodd o
P Jos?

(1) 5 20 (2) 7 20.5. (3) 9 %o 4) 10 0.

SPACE FOR ROUGH WORK / D& &8 Seranowseds Homw
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38

39

40

41

42

The radius of a cone is 7 m and its height is 10 m. Then its slant height is

(1) 122 m (2) 13.3m (3) 145 m (4) 162 m
&8 dogu) BwEy g 7 D, HBa JenH & 10 . VA, JeTed I
1y 122 5%, (2) 13.5 . (3) 145 5. 4) 16.2 5.

If tan®=cot O then the value of secO=
tanB=cot 0 ®@and, secH end

1
1) 7 @ 2 3) 2 ) 1

The angle at tangent to a circle and the radius drawn at the point of contact is
28300ty K Hys 6 0PE grgo Haxo Seodn
(1) 60° (2) 90° (3) 45° (4) 30°

The ratio of volumes of two cones is 4:5 and the ratio of the radii of their bases is 2:3
then the ratio of their vertical height is

Bockh dognHe HHHBErwo 4:5 Dda oo e;iraﬁgbgves A8 2:3 wowd, ¢ Jen o ;NS
(1) 4:5 (2) 9:5 (3) 3:3 4) 2:5

Three cubes of sides 6 cm, 8 cm and 1 ¢cm are melted to form a new cube then the
length of the edge of the new cube is

(1) 9 ecm (2) 8 cm (3) 7 cm (4) 6 cm
6 20.D., 8 20.D. DB 1 0.b. en Zherenn Ko ST LW 8NN 28 DG THHo SaKrd
Bowre @ pdo By heo Fod Jod?

(1) 9 Bod. (2) 8 20.. (3) 7 20.2. (4) 6 20.2.
If A+B=90° and cot B=% then the value of tan A=

A+ B=90° H8oxw COtB:% @D, tan A4 2end

A e e 5

M 3 @ 3 €l @ 7

SPACE FOR ROUGH WORK / 9& 08 Stranosadsd Sodn
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45

46

In the figure, AP=12cm, PB=16cm. Let m=3, then the perimeter of the shaded
portion is

H&o wod AP=12 20.8.. PB=16 20.8., =3 oond, b Fonadd @rodo gy
HepSeos Jos?

(1) 52 cm (2o.D») (2) 58 cm (o)  (3) 56 cm (20.) (4) 62 cm (0..)

If the diameter of a sphere is 'd' then its volume is
2.8 o Bwgy wrgho 'd' wand, ed HHBErDO

1 4 1 : 1
(1) grmd’ (2) 3md’ (3) 557’ (4) Fmd’

A reservoir is in the shape of a frustum of a right circular cone. It is 8 m across at the
top and 4 m cross at the bottom. It is 6 m deep then its capacity is

(1) 704 m3 (2) 174 m3 (3) 127 m3 (4) 170 m3
& D230 gaB 1BSSE Gy Bereio (BHD) w2808 S0k, oD T DB (80b Trgrgren 8 .,
4 . HBo % 6 . ©and, ord e HOXrR0 Jod?

(1) 704 &3 (2) 174 &3 3) 127 &3 (4) 170 D3

A dice is thrown twice. Then the probability of that '5' will come up at least once.
&8 FDEH Bodb J;G D, A0 .80 o oPoP 'S By VourDgd

11 25 23 12
(1) 3% 2) 3% G) 3¢ ) 3

SPACE FOR ROUGH WORK / 9& 208 Seronowsdd Hodn
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48

49

50

If the mean of 6,7,x,8, y,14 is 9 then x+y=
6.7,x,8, 7,14 © e 9 wond, x+y=
(1) 17 () 18 (3) 19 4) 20

From the figure, 6=

S0 DHod, f=
@
100/3m
3
A I_ B
100.m
(1) 45° (2) 60° (3) 30° (4) 75°

The tops of two poles are of height 20 m and 14 m are connected by a wire.
If the wire makes an angle 30° with the horizontal. then the length of the wire is

(1) 11 m (2) 12 m (3) 13 m (4) 10 m
20 2. oz 14 . Pdpen o Dot Hoare F0) Bhe D3, © & 88 Giross Tps 300
S0 TV, & s By PEH

(1) 11 %. ) 12 . (3) 13 %. 4) 10 %.

If three coins are tossed simultaneously, then the probability of getting at least two
heads is

R ol SH/T IHES T, L0 Bodk erdhiven KBV voarDgs

2
() @ 2 3 3 @ 3

S e

SPACE FOR ROUGH WORK / 2& 38 Séranosads Pt
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51 The A.M. of 30 students is 42. Among them, two students got zero marks. Then A.M.
of the remaining students is
30 Dod darghe drien 42. 586" a8 '0' Srdyen B, 1ADD dorgdoe e
(1) 40 (2) 45 3) 50 (4) 55
52 The median of 17,31,12,27,15.19.23 is
17.31,12.27.15,19,23 © @&} DEghso
(1) .19 (2) 20 (3) 21 (4) 22
S Modeof A4.B,C.D it Z 18
(1) 20 (2) 21 3) 22 (4) No mode
A B C Doy Z © @ogy oo
(1) 20 (2) 21 (3) 22 (4) ersudso sodd

34 The value of sin® or cos® never exceeds

(1) -1 : 2y 1 3) 0 (4) None of these
sin@ Bor cosB o By Jewd BA%oB D H SED.
(1) -1 (2) ik (3) 0 (4) 28 s

th
th

In the figure, the value of cosec 4 is

C

A B
13

H0S°, cosec 4 @nEY Dend
1

(="
(%]

L

13 5
(1) ) Gric @ 5

o |

1

LS ]

SPACE FOR ROUGH WORK / d& 08 Séronobedsd Do
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If a two digit number is choosen at random then the probability that number choosen
is a multiple of 3.

Bodose éoa)sdff’ e o)y S%08, b 3 Sy rﬁeﬁa«fnc’ﬁog doerBge

1 1 1 1
(1) > (2) 3 (3) p 4) 5
P(x)+P("not x") =
P(x)+P("x s=d0") =
(1) -1 2) 2 (3) 1 4) 2
If othe’ then Mn—ez 7>
a CosB~smh = A\ 3]
coth=" et 2Ot iaEE 3N
a cosB—sin® —— \
b—a b+a a—>b . a+b
3y
(1) b+a (2) b—a ) a+b (4) a—>b

The angle of elevation of the top of a tower, whose height is 100 m, at a point whose
distance from the base of the tower is 100 m is

100 vexs e o a8 oo Fdo wod 100 &Y Erdos” §8e T D Ko HBJoD Fdo wod
0308 w0

{1) 30 (2) 60° (3) 90° (4) 45°
—tan? 45°

The value of ’Lﬁo—=
1+tan~ 45

1—tan? 45°

T 5 oo SwE dend

1+tan~ 45

() 0 (2) =1 (3) 1 4) 2

SPACE FOR ROUGH WORK / 9& ©08 Séranosads RSTRS
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SECTION — B : PHYSICS ("85 3°39d0)

To find normal to a curved surface at a point, join that point and

(1) Focus (F) (2) Pole (P)

(3) Centre of curvature (C) (4) Any point on principal axis
HES0D8 a8 DothP H6 eowin, & DothH® (808 AMYH DohHE Lo J8)EE08.
(1) =9 (F) | (2) )8 Boiw (P)

(3) HEe Sosdw (C) (4) Porargin B B Doth

When a set of parallel rays of light inclined at 15° to the principal axis, are incident
on a convex lens, they

(1) Converge at focus (F)

(2) Diverge from focus (F)

(3) Converge to a point on focal plane
(4) Diverge from a point on focal plane

Bergos 15° Smo Br [Haxrdon $708 Homdtn HogrseE EbEin D HETDXPD, 0
(1) =896 Bo|B8)sHHErow

(2) =9od JBodEdoeseran

(3) =dan deoop & Dotk B¢ Bo|d)smHsron

(4) >dan oo 28 Doth) wod JodEboesE 0N

Focal plane of a spherical mirror is

(1) Line joining pole (P) and focus (F) of the mirror
(2) Plane perpendicular to the principal axis at focus (F)
(3) Plane perpendicular at centre of curvature (C)

(4) Plane paralle!l to the principal axis.

APersed G5y @) TR deo @od

(1) &8y $ydo (P), o8 (F) o Send) B
(2) =8 (F) & pororsd8 oowornr ¢b) dedw
(3) Hge Sogo (C) B¢ womorr &¥) dedn
(4) Porargedt Hhroddor ot dedn

SPACE FOR ROUGH WORK / ¢ 508 Séranousedsd b
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65

66

67

Dentist uses this mirror to examine teeth of patients.

(1) Concave mirror 2) Cori\-'ex mirror
(3) Plane mirror (4) None of the above
Sod Bebgeh B cosrey BJoBohH BBHRPACH BB e,

(1) Herse8 s8yesdn (2) Sozrss S8 e
(3) tde GSyedw 4) VoD =P

If object and image lie on the same side of a mirror. the mirror is

(1) Concave (2) Convex

(3) Plane (4) None of the above
D), (HSDowdn 88 &8 FYHS $08, © B yeEn

(1) Herses (2) Soers=s

(3) wée (4) Vs

When distance between object and screen is more than 4 times the focal length, in how
many positions of the convex lens, image is sharp ?

SR, B g tirdo 0ogrseE 08 Tergosod8 (f) 4 BesoB Jhy aB)eand, Sbsin @0k,
N, Fres® (HEDoHD R0 Sotwod?
(1) 1 (2) 2 (3) 3 4) 4

If a light ray passing through centre of curvature (C) of a mirror is incident on the
mirror, the reflected ray's path is

(1) Through focus (F) (2) Through centre of curvature (C)
(3) Retraces the path (4) Through any point

2.8 5708 860, (8t B8y Her Soo (C) o8 Barrelir S8 1m0 HETDVI PR, So°55S
8dmo A&y, drdo

(1) = (F) thoar (2) 3050 (C) oae
(3) 8 ardo hom FEH Boxreiyod (4) 2B DocvH o

SPACE FOR ROUGH WORK / 9 $98 Séranoseds et
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69

70

71

If magnification is equal to one, it means

(1) Image is smaller than object

(2) Image is larger than object

(3) Image is of the same size as that of object
(4) Image is point size

&0 8¢ (1) wand, oo

(1) B8Bowiw, HP so°) 68

(2) BdDowo, HYH Sov) B

(3) (BBDoww, HY Bodr &8 HOLPWOS® dar)an
(4) 3Dowt Doty Ersand® &6

An object is placed at a certain distance on the principal axis of a concave mirror.
If the image distance (v) is 30 cm and radius of curvature (R) of the mirror is 20 cm,
find the object distance (u).

(1) 10 cm (2) 15 cm (3) 30 cm (4) 7.5 cm

28 PErsS S0 (DETrERnD 508 Br8os”® 2.8 HP) S0owd8. [HBBow ¢rsin (V) 30 o.a.
SBath 66)P0 EE Se mgrgvs 20 T0.D. wans Gde, K R (1) Jos?

(1) 10 0. 2) 15 2o (3) 30 o (4) 7.5 2o.5.

Which part of our eye is responsible for image formation ?

(1) Cornea (2) Crystalline lens (3) Aqueous humor (4) Iris
DY Eot3S* s arrfo Hed (HBDowo B E0H?
(1) s8yaxe (2) seso (3) &8 (%o (4) =285

Object distance (u), image distance (v), focal length (f) are all measured from

(1) focus (F) (2) optic centre (P)

(3) centre of curvature (C) (4) principal axis

5 6760 (1) (H8Dow &r80 (V) argosso (f) ev & Dochiy Bod Ferdrd.
(1) =& (F) (2) &8 oo (P)

(3) Hge oo (C) (4) Porogsn

SPACE FOR ROUGH WORK / 9% %08 Seranosadsd gomo
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73

74

75

In our eye cones identify

(1) Intensity of light (2) Colour
(3) Taste (4) Smell
D3, 80e35° FomnHen BIY H8Jraw ?

(1) 08 s Q) oo
(3) &0 4) =%

With the help of . eye-lens changes its focal length.

(1) Aqueous humor (2) Cornea
(3) Ciliary muscle (4) Pupil
B SFano8’ Koe3 Kerko 8% TGOS0 ) ErhyH0en0s?
(l) fﬁLa‘css (¢S50 (2) s=8yar-

(3) a8 Socdsoren (4) s>

Abud is flying down vertically towards the surface of water with constant speed.
A fish in-the ‘water vertically below the bird sees the bird

(1) Further away than actual distance

(2) Closer than actual distance

(3) At actual distance

(4)*In inclined position

esarioeﬁs &) 08 M3 G080 BFrT eom0r S B8 (Bocs® (Borrednod. K88 exomor He35® o8 B3
08, | BHH H§

( Ijr‘}fgm >0 08 drdorr Seddos

) wten 90 K08 SHS Sterdbaos

(3) een FH0S" Sercreod

(4) >end® tercre008
Qo

Focal length of plano-convex lens of refractive index » and radius of curvature R is
7 H8e55% theosin, R Hgee TFE o Shde Hosrsed eEhn, Bgy. Tergossin

(- f=Rr 2) f=

(S

.l i
3) f= P 4) f=

n—1

POLYCET-2021—B ] 16 FELO. -
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78

79

A convex lens form image of an object at infinity. Object is at

(1) focus (F) ) E=271 (@3) infinity (4) pole (P)

8 H0grsY S0 (H8Doerd) wtod Brdos® S%csaoa. ) S o’ $0t08.

(1) = (F) ) c=2f | ) ©Hod ¢80 (4) &8 Boo (P)

Formula used when a light ray enters a medium of refractive index »n» from a medium

of refractive index n at curved surface with radius of curvature R is

5708 88wo 1 HBLSS H¥o Ko axrdEo wod > 8 (heso, R prgorr e Hsseo &°8
[BaredodB Py, o (Bod RbEGRIN JOBDS. (1)

™M
na Ry R2=—mM - o —ny
= it V-u=
L v R .@) R
vV U n—n I hy M _hy—n
s s i o e = e
) T R e - =

4Q,8Q, R resistors are connected in series. Resultant resistance is 20Q.
Then R=29 o

™M

4Q.8Q, R dgren [@BeIS® gend agron. PO NWPEan 20Q vond, R=2?
i =
(1) 6Q 2) 40 (3) 18Q 4) 8Q

o
When how much current flows in the fuse, it melts ?

grger o Jod g8 (B ©d EHEI0?
(1) 200 A (2) 2A 3 20 A (4) 2000 A

29!

("‘1’“:.
The alloy made of Cu, Mn, Ni is 1] -
(1) Magnesium (2) Magnet ‘(3’) Manganin (4) Magma
Cu, Mn, Ni o8 $axos g &n '

(1) DAyRano (2) &m&S (3) %K (4) Breey

I

SPACE FOR ROUGH WORK / 9& %08 Seranoiseds ek
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82

83

84

85

Conductivity =

(1) Resistance™! (2) Current™! (3) Potential™! (4) Resistivity™!
FrEeeo =
(1) d&esn! (2) dbgdygririn~! (3) FBYNS! (4) 230!

Least distance of distinct vision is

(1) 25 m (2) 25 mm (3) 25 cm (4) 25 km
D)0 xR I ErdHn
(1) 25 %. (2) 25 .. (3) 25 20.5. 4) 25 8.5.

The resistance of human body varies between

(1) 100 Q to 50,000 Q .~ (2) 100 Q to 5,000 Q

(3) 1.000 Q to 5,00,000 Q- (4) 100 Q to 5,00,000 Q
Ferdemorr drdd $66 AP o) Dewde ey dotnod?

(1) 100 Q ©od 50,000 Q 5% (2) 100 Q o8 5,000 Q S
(3) 1.000 Q %08 5,00,000 Q 56 (4) 100 Q %08 5,00,000 Q 6%

Focal length of a lens is 25 cm. Its power is

28 808 Teigoddin 25 0.2, eand, ovd s
(1) 5D (2) 6D (3) 4D (4) 0.04D

When a person is suffering from both Myopia and Hypermetropia, which should be
used ?

(1) Bi-convex lens (2) Bi-concave lens
(3) Bi-focal lens (4) Bi-focal mirror
(008 8 S, G828 erh 9588 $HDrAoBHORD

(1) BgHoerss sbsw (2) agperses seosmw
(3) agTTgoss sesin (4) ogmregoss S8 =Hn
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The current in a conductor is directly proportional to the potential difference between
its ends. This is called .........

(1) Faraday's law (2) Kirchoff's law (3) Ohm's law (4) Newton's law

28 TP ERNSD ASg B g oo §de Ddgre 8‘&:20&36 PDord8 @StErd PS50t Gotwod.
B @ N ©oerEH?

(1) 68 davdn  (2) 8655 dovddn (3) 45 JanHddw (4) #rgesS Do

When a copper wire is connected to a battery the electric field in the wire is
(1) more at positive terminal (2) more at negative terminal

(3) not uniform in the wire (4) uniform in the wire

2.8 oo & argeaﬁé EDVIOY B, &nS* Airgs LS

(1) &5 &sydo 56 Moy (2) eave &ydo B Ay D

(3) &K&® DgdaM ot (4) 31s8® d8bB BotvoH

Units for specific resistance
BR A GeAB (reTeen
(1) Qm (2) Q/m () m/Q (4) Qkg

Foree x Length

= which quantity ?

Charge
(1) Potential (2) Current (3) Resistance (4) Capacity
200 X PED)
= 2 88 o°R?
FREFN
(1) B80S (2) debgdygarsran  (3) e (4) B8
A current through a conductor is 24, when there is a potential difference of 10V

between its ends. Its resistance is
a8 S0 Dde Ly 10V PBIS Bt iy, 24 g8 [Htrod. o) WPeDod?
(1) 5Q (2) 02Q (3) 20Q 4) 25Q
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SECTION - C : CHEMISTRY (83r0%% Fe9a0)

In an atom, when electron jumps from ground state to excited state
(1) no change in energy (2) energy is emitted

(3) energy is absorbed (4) depends on atom
B8P HS® JogeS graran wod &BRS 'Qﬂwﬁ S0’

(1) #88° &rchy dowsesy (2) 48 sgrdddd
(3) 489 |ferod (4) EreHD BersbD

The orbital which is filled with electrons immediately after '3p' is -
3p' ©B)érsS Jod s QOFISE ol o) ErS J6?
(1) 4s (2) 3d (3) 4f (4) 4p

When n =4, the total number of subshells in an orbit is
n=4 o $Hdpd @ §6)606° God Fodo GdES T Dowg
(1) 1 2) 4 (3 2 (4) 3

Which of the following has larger wavelength in electromagnetic spectrum ?

(1) Gamma rays (2) UV rays

(3) X-rays (4) Radiowaves
g g 08 Hi0S" ©HY SBorBEso EOALD DI?

(1) rmdr 88mren (2) ©8d08* s 88oren
(3) X-88eren (4) daa@r Ssorren

The quantum number which explains about the spacial orientation of orbitals is
WR)erg) S03E BAgTgD) DHBOH S°got0 Homg
(1) n 2) ¢ (3) m (4) m,
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The correct set of four quantum number values for the valence electron of sodium
atom is -

FFBano HEraD) BE) OV JOFIDLH &08 4 s°goto Jowge Jeniden

1 1

(1) n=3, =], =l o (2) =3, 40, m=0, s =
_ 1 1
(3) n=3, £=0, m=1, 8= +5 (4) n=3, £=], m=0, s=—7

The impurities present in the ore is called as

(1) Flux (2) Gangue (3) Slag (4) Mineral
rHHE LORDFan &) HOTOD I VoLrd?

(1) |&s%s°0 (2) neoh (3) Seo (4) d=0

Which of the following is used as a flux in the smelting of Haematite ?
B [Hrieso o DS GHAPAOWHO I&?
(1) SiO, (2) CaSiO4 (3) CaCO4 (4) FeSiO;

Potassium and Calcium belongs to

(1) s-block elements (2) p-block elements
(3) d-block elements : (4) f-block elements
Férano HBax $°Hano Hresten J i Bodi?

(1) s-2r8 droscen (2) p-zr§ droscen
(3) d-zr§ Sresren (4) f-2r8 Sroscen

Which of the following is an ore of Iron ?

(1) Bauxite (2) Haematite (3) Carnallite (4) Pyrolusite
s (800 Te38° ad gréD) A67?
(1) exBy& (2) H8és (3) =88 (4) pBPengs
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In electrolytic refining of metals, the pure metal is taken as

(1) Anode (2) Cathode (3) Electrolyte (4) Vessel
DSogE e g8 S BHBANS® HE S0 BIS S ord?
(1) o8 (2) =86 (3) dE98S (4) D

The reaction that takes place in Thermite process is

(1) Reduction (2) Oxidation

(3) Neutralisation (4) None of the above
$BE WEgS® 281 563

(1) Boxssemo (2) eg‘)édmo

(3) sehscmo (4) D =P

What does the symbol 'A' represent in a chemical equation ?

(1) Catalyst (2) Precipitate (3) Heating (4) Physical state
ERa0H DDESP0ST A" @R HE B WrAW0H?
(1) &dysso: -~ (2) esE0 (3) ddBando (4) s a2

The product formed when quick lime reacts with water is
P D)0 DB M By IEgS® DB ek (Baxreigo
(1) CaSO, (2) Ca(OH), (3) CaCOq (4) CaCl,

Which one of the following is not a product in the electrolysis of aqueous NaCl *
NaCl selodd dogs Jdde HBoNS® 800 686" B (Baxraidgo 5°¢h?

(1) NaOH ) 0, 3) Cl, (4) H,

Which of the following has highest mass ?

(1) One molecule H,O (2) One gram H,O
(3) One ml H,O (4) One mole H,O
(Bod e368° wdghE (5550739 EDAGORL?

(1) 28 o=y H,O (2) &8 [prd H,O
(3) =% dd&E H,O (4) 2836 H)O

POLYCET-2021—B |
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112

When the equation, Na+H>0 — NaOH+H, is balanced, what is the coefficient for
'Na' ?

Na+H>0 — NaOH+H; $86eed) shego By 'Na' @, sheso Jos?
(1) 2 () 3 (3) 4 4) 1

The chemical reaction in which heat is absorbed is called

(1) Oxidation reaction (2) Exothermic reaction
(3) Endothermic reaction (4) Reduction reaction
G0 SEGS® '$R0' |(RrosBB, @ WEsH IHD otr?

(1) &8ysse $cg (2) agrss Ssg

(3) egres S8g (4) Honssem w$dg

Which of the following is not an inert gas element ?
& 800 T8S° asdaray Dresin 5200 D6?
(1) He ' (2) Na (3) Ne (4) Ar

How many s-block and p-block elements are there in the second period of the modern
periodic table ?

BEE G HISE™D Todd HOABES® ) 5-2°6 WO P-gE Mreseen on)?
1) 2,8 (2) 8,2 (3) 2, 6 4) 4, 8

Which of the following atomic numbers of elements have similar chemical properties ?
& (Bod 36" ) H6dren Homgen Ko Hrosten o EFaBD Somen SOA SodkD?

D RS @2y 9, 17.35 3) 3, 10, 11 4) 10, 11, 12

In the modern periodic table group 2 (ITA) elements are called as

(1) Alkali metals (2) Alkaline earth metals
(3) Halogens (4) Noble gases

e wdEd KIS (105 2 (IIA) Srosre D wotrt?

(1) o6 en (2) so0)88 SPten

(3) #S’e=p (4) es¢8 srasHen

SPACE FOR ROUGH WORK / 9& 38 Seranoswds Pt

POLYCET-2021—B | 23 : [ PT.O.



113

114

115

116

117

118

119

120

The valency of Calcium is
s*davo B doddruss
(s 2) 2 3) 3

Pe

i)

4) 4 |

Atomic number of an element is 17 th'é'fi' the period to which this element belongs
28 Drosin Gy Hhre Sopg 17 ©®and u_léme)% Q H0an8SH JoHH?

(1) 1 (2) 2 v 3) 3
e

Which one of the following is strong acid ?

& (800 °¢35° oD D IO?

(1) CH;COOH (2) HCI (3) H,O

Which one of the following is an amdtc oxxde ?
(Bod S* &y &BYE IB? "

(1) MgO (2) Na,0O 4 (3) CaO
Metallic oxides are generally in nature.

(1) acidic (2) neutral (3) amphoteric
S 9335 en Eorr dgarard) $OA dodraw.

(1) e (2) B0 ; (3) ogdgersams

Y

The nature of chemical used in antacid-is

(1) Basic (2) Acidic - (3) Neutral
QXrotrRBS” GHBrAOB SPAnD DIy VgD
(1) s (2) ey TB) s

pH value of aqueous NaCl solution is
NaCl zeocrdein @ngy pH deod
(1) 1.7 (2) 2 (3) 10

The chemical formula of blue coloured Copper Sulphate crystal is : ‘

A Sotd s ‘oégés ¥)e380 Bg) BronD q)udzgep

(1) CuSO4-H,0  (2) CuSO,-2H,0 (3) CuSO,-5H,O

4) 4

(4) NH,OH

(4) CO,

(4) basic

(4) =6

(4) All the above

(4) 259

@) 7 |

(4) CuSO,-10H,0
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SECTION — D : BIOLOGY (28%=>8930)

121 Placenta is formed at around - weeks of pregnancy.
K80 230AD WP TorOH STPONY) DEYED.

(1) 15 ) 9 oB) 12 ) 5

122 Who discovered Mitosis ?
(1) Walther Fleming 15”{2) August Weismann
(3) Charles Darwin (4) Lamark

SAeesd D KD EFF)D?

(1) =g ok 2) et 35 &5
(3) =35 aogs (4) ety

|
123 In plants, the fusion of male gamete with secondary nucleus results in

(1) Spores (2) Cotyledons (3) Embryo sac (4) Endosperm
W os® Hiba de SoBko BB So|BEoE voawgo HdSor™ DB D.

(1) Hescen (2) Descsermen :_5.'_"@3) 20 §*do (4) ooH8s 80

124 In majority of flowering plants, how rnany cells are present in an embryo sac ?
ey 5 0D B8y S* BodEF0S™ Srwro ows

(1) 6 (2) 3 3) 7 4) 8

125 The alkaloid used as medicine for snake. bite is

(1) Reserpine (2) Caffeine :_"'(3) Quinine (4) Nimbidin
0 50 2od S FEH seperaubd SHTrATED.
(1) B85 @5 " (3) &3S (4) 20085
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126 The hormone responsible for phototropism in plants is

(1) Cytokinin (2) Gibberellin (3) Auxin (4) Abscisic acid

585 5708 0nisko® so8mo whb.

(1) 25°838 (2) 22)888 (3) ©8yS (4) @8 eno
127 There are _ number of cranial nerves in human being.

(1) 10 pairs (2) 15 pairs (3) 12 pairs (4) 13 pairs

SrdHes® gre ardhen ) ?

(1) 10 esésen (2) 15 =den (3) 12 esen (4) 13 exsbew

128 Nerves that carry impulses from sense organ to brain or spinal cord are
(1) Dendrites (2) Afferent nerves (3) Motor nerves (4) Efferent nerves
Biro & G oo arrre wod B ETren Sold HEH00 BWTP wrcoen

(1) @og9ew (2) o8 o3 ey (3) o6 Soren (4) o108 Toden

129 A person has loss of control on emotions. Which part of brain must have stopped
functioning ?

(1) Medulla obloﬁgata (2) Diencephalon

(3) Midbrain (4) Cerebellum

DEK SN o HIBanE Fdko Bed 88 9588 2rFBgreD Javolde P& yard.
(1) Sersomo (2) egeriso

(3) Desg Desckr (4) oo wAPo

130 The most Poisonous of all waste products of metabolism is . <
(1) Urea (2) Uric acid (3) Ammonia (4) Amino acids
SBons Bwgy o) #58 8 B’ vdos RrosHIS
(1) oxrdare (2) anres edo (3) earydaxe (4) oS sirew
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131 Which experiment proves that oxygen is evolved by plants during photosynthesis ?

(1) Hydrilla experiment (2) Mohl's half leaf experiment
(3) Black paper experiment (4) None of the above
&) [BAeAE0 rgoe Bl en SSemaiig KodrH Bans® e8yal 6818 ©Hsd irdotndse?

(1) 3B8er &@rco . (2) &)y 08 Y& Pareo
(3) %o sAgo Barso (4) 30 s

l' 132 Which of the following pairs is matched correctly ?

i Vitamin Deficiency Disease
(1) Folic Acid - Nervous Disorders
(2) Pantothenic Acid - Anaemia
(3) Biotin - Burning feet
(4) Ascorbic Acid(C) - Scurvy

& (806 7°E3S° A6 HBID 238

TR S g 00k
(1) °O8 286 - & Homots EnHgen
(2) o338 whro - @dawe
(3) 28335 - ©0s°¢) doben
(4) @r)8)§ wio(C) - 8¢

133 Which cell organelle in a plant cell participates in photosynthesis ?
(1) Mitochondria (2) Chloroplast
(3) Golgi complex (4) Endoplasmic reticulum

D)L 8290 &' ) Lerorins 8o vy K@ (Bans® S ?

(1) D& seodan (2) £8°>5 (08 Bey)
(3) e So8d0 (4) @Oéé&') (Bgere0
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134 Which of the following is the correct flow chart of human digestive system ?

(1) Mouth — Buccal cavity — Pharynx — Oesophagus — Stomach — Duodenum —
Small Intestine — Large Intestine — Rectum — Anus

(2) Mouth — Buccal cavity — Pharynx — Oesophagus — Stomach — Duodenum —
Large Intestine — Small Intestine — Rectum — Anus

(3) Buccal cavity — Mouth — Pharynx — Stomach — Oesophagus — Duodenum —
Small Intestine — Large Intestine — Rectum — Anus

(4) Mouth — Buccal cavity — Oesophagus — Pharynx — Stomach — Duodenum —
Small Intestine — Large Intestine — Rectum — Anus

&5 (800 TE38° (R BGgHO PerD B OFB?

(1) 86 > wigHEdo —> (KRN > &S Tars —> Sgedao —> so@rdo — Db —>
DY (rd —> HbLErFo —> Aoy

(2) & —> eigHrdo —> KN —> BFSIE > dordabin —> woghrdo — S >
DH) [ —> HBAEFo —> oD

(3) edgHFdo - $&H — N - Soedabidn —> FETrE —> wo|FrFo —> D/ —
YExd —> PHBLErTo —> o

(4) & > egodo —> GFSTIFE —> (D —> Sgedosin —> vodihrdo > IF o
YD —> PddrFo —> oYy

135 The Origin of Species was written by

(1) Charles Darwin (2) Jean-Baptiste Lamarck
(3) Charles Lyell (4) George Johann Mendel
e 68318 (0028 b M) HVE Svond

(1) =88 @8gs (2) &8 - 22 Saleyl

(3) =88 88 (4) 2B &5 DorS

136 In F2 generation. the phenotype ratio of dihybrid cross
8308t (BArod®, F2 8o @ng) &)dg srbo M8
(1) 3:1 @) 1:5:1 (3) 933 (4) 3:9:3:3
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137 Fern leaf which produces spores is called

(1) Sporangium (2) Sporangiophore (3) Sporophyll (4) Megasporangium
268 Derodd G818 BB 6 Herod @088,
(1) ?o%bwéoﬁo (2) ?oc‘:asg.}w?éoi’) Hyoso (3) ibcéé)asﬂéo.ﬁ Heren (4) ?ocoﬂébaao

138 Number of pairs of contrasting characters in pea plants selection by Mendel

DoBS ) 2o HeSVE oD 2o°ed W) S Xy Hre) .

(1 3 (2) 7 (3) 5 @) 9

139 The wings of a bat and wings of bird are an example of

(1)‘An?logous organs (2) Vestigial organs

(3) Hind limbs (4) Homologous organs
$Oyo0 BEen wboK HBBHew & sordrde.

(1) (Baxe g edanaren (2) w=h wdoHaren

(3) Sssrorren (4) Joeye g ebavT e

140 Palaeontologists deal with

(1) Embryological evidence (2) Fossil evidence
(3) Vestigial organ i (4) All
Doeddwimnd & Bowolo $OA &otrd.

(1) 20888 #~%p S mren (2) RBere: dsS Tew
(3) oBH ©daND JSE)Toen (4) o)
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141 What are the positions of auricles and ventricles in the heart ?
(1) Upper chambers are called ventricles and lower chambers are called auricles
(2) Upper chambers are called auricles and lower chambers are called ventricles
(3) Left chambers are called auricles and right chambers are called ventricles
(4) Left chambers are called ventricles and right chambers are called auricles

FYEanENS® EB%en HBaLy 2E0Eey doBd (Fharen D2

(1) ereos® ssdsen wbaxy (808 2rros® E0%en dodran.
(2) 3%rros® E08en B (808 2rod® 2888en doéran.
(3) WY 808en B HADY 2688en dotra.

(4) sy wEdEen O HEDY) E08en odrawn.

142 Through which of the following is water transported in a plant ?

(1) Xylem (2) Phloem

(3) Medulla (4) None of the above
o A B orgo SorerBotid?

(1) o9 (2) hE8everen

(3) g (4) 230 s

143 In humans, the total amount of urine excreted per day is about
(1) 2.5 - 3.0 litres (2) 3.0 - 4.0 litres (3) 0.5 - 1.0 litre (4) 1.6 - 1.8 litres
Yl Serdh) ooy R des Bar(sed) WOFcr?
(1) 2.5 -3.0 &. (2) 3.0 - 4.0 &. (3) 0.5-1.0 &. (4) 1.6 - 1.8 5.

144 Which of the following is the largest artery ?

(1) Aorta (2) Coronary artery
(3) Pulmonary artery (4) None of the above
A3S® ©8 S S5 D67

(1) )P (2) FOEED

(3) HHH S (4) o=
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The position of the right kidney is lower than the left kidney due to the presence of
this organ above it

(1) Brain (2) Liver (3) Lung (4) Stomach

06 BY 63) D& Bodo Ay FHo A Wr(E0EO KB TG BoB8 otwosd. Wr(EROEC 36
B0oB&0 Hed
(1) st (2) s*8avo (3) &0 8sen (4) dordono

Which vitamin is necessary for clotting of blood ?
650 HESENOH 2 DS BHN0?
(1) A (2) B 3) C @) K

Which of the following is sound producing organ in' man ?

(1) Pharynx (2) Larynx (3) Trachea (4) Bronchus
ErEHIS” Herd) ¢8718 T wdavdo I&?
(1) s (2) %ge3xss (3) sravareo (4) =rgdoreo

In which plants oxygen is absorbed through aerial roots ?

(1) Mango" (2) Mangroves (3) Banana (4) Rose
D W o Ta@By o go ©8)255 DenySachin?
(1) & (2) SHroyirs (3) eses (4) twerd

What is the energy currency of the cell called ?
$er08®d Jogds) 48 (Hhrerd) Ddokhd?
(1) ATP (2) MONEY (3) DNA (4) RUPEES

While swallowing, which part diverts food mass away from the opening of larynx ?

(1) Pharynx (2) Trachea (3) Epiglottis (4) Alveolus
GG BOR Hanos® e et B H8E eSS D8 B Hoo Vaw?
(1) 16509 (2) araomeein (3) ese8ires (4) a8 APaven
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